MATHS
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(ENGLISH)

SYSTEM OF LINEAR EQUATION

Multiple Choice Question

Tz +y=29

T + 2y = 12



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_KzEgo2aEiHt9

If the ordered pair (x, y) is the solution to the

system of equations above, what is the value

of y?

A —17

B. 12

C. 46

D. 75

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_KzEgo2aEiHt9
https://dl.doubtnut.com/l/_fPxRtYlQEADi
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The graph of a system of linear equations is
shown above. If the ordered pair (x, y)
represents the solution to this system, what is

the value of £ — y?


https://dl.doubtnut.com/l/_fPxRtYlQEADi

C.2

D.4

Answer: D

° Watch Video Solution

3. If 5b=06a + 16 and 9b = 7b — 20, then

what is the value of 3a — 2b?


https://dl.doubtnut.com/l/_fPxRtYlQEADi
https://dl.doubtnut.com/l/_cSlU7Mi9uQW6

C.4

D.8

Answer: B

° Watch Video Solution

4.4 — 2y + 3 =8
d3x +6y=8y—x+5
How many solutions does the system of

equations shown above have?


https://dl.doubtnut.com/l/_cSlU7Mi9uQW6
https://dl.doubtnut.com/l/_yeJL61qWEE9r

A.0

B.1

C.2

D. Indinitely many

Answer: D

o Watch Video Solution

5. An office has 27 employees. If there are
seven more women than men in the office,

how many employees are men?


https://dl.doubtnut.com/l/_yeJL61qWEE9r
https://dl.doubtnut.com/l/_NKWbVXhV9H7x

° Watch Video Solution

6. The total fare for two adults and three
children on an excursion boat is $14. If each
child's fare is one-half of each adult's fare,

what is the total cost for one adult and one

child?

A 4

B.5.25

C.6


https://dl.doubtnut.com/l/_NKWbVXhV9H7x
https://dl.doubtnut.com/l/_BpxMBiLOucCr

D. 6.5

Answer: C

o Watch Video Solution
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If the ordered pair (x, y) satisfies the system of

equations above, what is the value of y?

A.0


https://dl.doubtnut.com/l/_BpxMBiLOucCr
https://dl.doubtnut.com/l/_qalrJ675K7fa

B.7

C.10

D.11

Answer: D

o Watch Video Solution

82r —3y= —3
—12= -4z + vy
In what quadrant willl the lines represented by

the equations above intersect?


https://dl.doubtnut.com/l/_qalrJ675K7fa
https://dl.doubtnut.com/l/_gVtgzHCZpdLe

A. Quadrant |

B. Quadrant Il

C. Quadrant Il

D. Quadrant IV

Answer: A

o Watch Video Solution

9. If 10a = 6b+ 7 and a — 6b = 34, then

what is the value of Ta?



https://dl.doubtnut.com/l/_gVtgzHCZpdLe
https://dl.doubtnut.com/l/_SZpW1ZhaDy17

B.1

41
27

41
D

Answer: B

o Watch Video Solution

10. In addition to the standard airfare, a
particular airline charges passengers for two

kinds of travel service: $25 to check a bag and


https://dl.doubtnut.com/l/_SZpW1ZhaDy17
https://dl.doubtnut.com/l/_s1Kn3XjX8hmX

S15 to upgrade to priority boarding. If the
airline collected $3,065 in baggege and
priority boarding fees from 145 travel services
on two flights combined, which of the
following system of equations could be used
to determine the number of bags checked (b)
and the number of priority boarding upgrades

(p) purchased on the two flights?

Ab+p=145 x 2

25b + 15p = 3, 065 x 2


https://dl.doubtnut.com/l/_s1Kn3XjX8hmX

B.b + p = 145

25b + 15p = 3, 065

C.b+p=145

15b + 25p = 3, 065

Db+ p= 2>
. p = 5
3, 065
150 + 25p = 5
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_s1Kn3XjX8hmX

11. The most popular items at a bakery are its
raspberry scones and its lemon poppy seed
muffins. The shop sells both items in boxes of
12 at a cost of $15 per box of raspberry scones
and $9 per box of lemon poppy seed muffins.
On Friday and Saturday, the shop earned $396
by selliing a total of 46 boxes of these two
items. If r and | represent the number of boxes
of raspberry scones and lemon poppy seed
muffins sold over the two-day period,

respectively, which of the following systems of


https://dl.doubtnut.com/l/_0yUipRcaURx7

equations could be used to find the number of

boxes of each type of item sold?

Ar—+1 =46

157 + 91 = 396

B.r +1 =12 x 46

157 + 91 = 396
Cr+1=46
396

D.r +1 =12 x 46

150 4 o — S0
4 ~ 19


https://dl.doubtnut.com/l/_0yUipRcaURx7

Answer: A

° Watch Video Solution

12. Tricia manages a health bar and wants to
add a new fruit and protein smoothie to the
menu. To decide on the new flavor she plans to
offer. Tricia sold trial-sized banana smoothies
and kiwi smoothies. She charged $2 for a
banana smoothies and $250 for a kiwi

smoothies and she told 40 in all, totalling $87.


https://dl.doubtnut.com/l/_0yUipRcaURx7
https://dl.doubtnut.com/l/_Pay5MzG1yEsj

How much more maney did Tricia make on the

banana smoothies than the kiwi smoothies?

A 12

B.17

C. 26

D. 52

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Pay5MzG1yEsj

13. A street vendor sells two type of
newspapers, one for $0.25 and the other for
$0.40. If she sold 100 newspapers for $28.00.

How many newspaper did she sell at $0.25?

o Watch Video Solution

If the ordered pair (x, y) satisfies the system of


https://dl.doubtnut.com/l/_JWQViGEK5V0K
https://dl.doubtnut.com/l/_0DznPhzz03aK

equations shown above, what is the value of

xy?

° Watch Video Solution

15.4 + Ty = 24

b6 + 2 -

Z 5 9=49

In the system of equations above, g is a
constant. If the system has infinitely many

solutions, what is the value of g?

A. 16


https://dl.doubtnut.com/l/_0DznPhzz03aK
https://dl.doubtnut.com/l/_9qY5Aa0Bwote

C. 36

D. 72

Answer: C

o Watch Video Solution

16. A small office supply store sells paper clips
in packs of 100 and packs of 250. If the store
has 84 packs of paper clips in stock totalling

12,300 paper clips, how many paper clips


https://dl.doubtnut.com/l/_9qY5Aa0Bwote
https://dl.doubtnut.com/l/_KpSZWqBY4UTQ

would a customer buy if he buys half on the

packs of 250 that the store has in stock?

A. 2, 900

B. 3, 250

C. 5, 800

D. 6, 500

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_KpSZWqBY4UTQ

17. In a collage art class, 76 students are
painting a mural on one wall of the campus
amphitheater. The wall has been divided into
23 sections, and each section will be painted
by a group of either 2 or 4 students. How
many more sections will be painted by a group

of 4 students than by a group of 2 students?

A6

B.7

C.8


https://dl.doubtnut.com/l/_IkzOJRudP8L4

D.9

Answer: B

° Watch Video Solution

85, T, _3
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If the ordered pair (x, y) satisfies the system of
equations above, what is the sum of the values

of xand y?


https://dl.doubtnut.com/l/_IkzOJRudP8L4
https://dl.doubtnut.com/l/_vpLOd4y8QBqo
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Answer: D

o Watch Video Solution

19.11x — 24y = 8
kx — 36y =5

In the system of equations above, k is a


https://dl.doubtnut.com/l/_vpLOd4y8QBqo
https://dl.doubtnut.com/l/_5OznzY5DSuKb

constant. If the system has no solutions, what

is the value of k?

o Watch Video Solution

20. Two moonflower vines are growing on a
trellis in Mallory's backward. She bought the
first vine when it was 11 inches long and found
that it grows at a rate of 0.25 inches per day.
Exactly 20 days later, Mallory bought the
second vine, which started at 24 inches long

and has a growth rate of 0.125 inches per day.


https://dl.doubtnut.com/l/_5OznzY5DSuKb
https://dl.doubtnut.com/l/_zv0OWypFr2Ao

How many days will Mallory have had the first
vine when the lengths of the two vines are the

same?

o Watch Video Solution



https://dl.doubtnut.com/l/_zv0OWypFr2Ao

